Math 141 Spring 2016
4.6 = Curve Sketching

Example 4.6.1. Match the functions with their graphs.
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4.6 Curve Sketching Math 141 Spring 2016

Example 4.6.2. Find transition points, intervals of increasing/decreasing, concavity, and asymptotic
behavior of f(x) = 4z® — 1222, then sketch the graph with this information.
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4.6 Curve Sketching Math 141 Spring 2016

Example 4.6.3. Find transition points, intervals of increasing/decreasing, concavity, and asymptotic

4
f_ , then sketch the graph with this information.
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4.6 Curve Sketching s\ Math 141 Spring 2016

X L 2x—3)
Example 4.6.4. Find transition points, intervals of increasing/decreasing, concavity, and asymptotic
2z — 3. L& =i+
behavior of h{z) = 2 I, then sketch the graph with this information. Z _ 3.‘/ =
0 22
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Math 141 Spring 2016

4.6 Curve Sketching
Example 4.6.5. Find transition points, intervals of increasing/decreasing, concavity, and asymptotic

behavior of y = = — 3m%, then sketch the graph with this information.
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4.6 Math 141 Spring 2016

If f(z) is concave down, then f/(x) is (circle all that apply):

increasing /" decreasing copkfant

Is there anything else that can be said about f'(z)?
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